Section 2

Nova

www.lister-shearing.com

+44 (0) 1453 544 832

Lister Shearing Equipment Ltd, Dursley, Gloucestershire



Nova

Item Part No.

1 289-17210
2 289-17130
3 289-17150
4 289-17190
5 289-17160
6 289-17170
7 289-17290
8 289-17200
) 289-17010
10 289-17540
11 289-17060
12 289-16040
13 289-17070
14 289-17090
15 289-17180
16 289-14260
17 289-14580
18 289-15020
19 289-15040
20 289-15250
21 289-15130
22 289-10010
23 289-17220
24 289-17230

Description

Top Casing

Screw M8 x 12mm
Name Plate

Screw M3 x 6mm
Isolating Switch
Selector Switch
Switch Lead
Wiring Loom
Motor & Capacitor
Washer

Sheath Coupling
Screw M6 x 12mm
Bottom Casing
Screw M5 x 1T0mm
Terminal Block
Screw No.4 x 16mm
Switch

Ratchet Wheel
Ratchet Spring
Switch Lever
Grubscrew M5 x 12mm
Rope

Snap Hook

Split Ring

Lister Shearing Equipment Ltd, Dursley, Gloucestershire

Iltem

25
26
27
28
29
30
31

Part No.

289-14830
289-15413
289-14270
289-14250
289-14260
289-17250
289-17280

Description

Mains Lead UK

Cable Support

Screw No.4 x 9.5mm

Cable Clamp

Screw No.4 x 16mm
Hanging Bracket
Woodscrew No.12 x 50mm

+44 (0) 1453 544 832

www.lister-shearing.com

Z UOI123§

<
o
<
o




